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Chapter 3, Page 126, Problem 13, Investment Advisors

*********************************************************************************************

MAXIMIZE:

3USOil + 5HuberSteel 

FundsAvail: 
+ 25USOil + 50HuberSteel <= 80000

RiskMaximum:
+ .5USOil + .25HuberSteel <= 700

USOilMaximum:
+ 1USOil <= 1000

                             Reduced      Original     Lower       Upper

Variable        Value        Cost         Value        Bound       Bound

USOil            800          0            3            2.5         10

HuberSteel       1,200        0            5            1.5         6

                Dual         Slack/       Original     Lower       Upper

Constraint      Value        Surplus      Value        Bound       Bound

FundsAvail       0.0933       0            80,000       65,000      140,000

RiskMaximum      1.3333       0            700          400         775

USOilMaximum     0            200          1,000        800         Infinity

Solution list ----------

Variable     Status      Value

USOil        Basic        800

HuberSteel   Basic        1,200

slack 1      NONBasic     0

slack 2      NONBasic     0

slack 3      Basic        200

Z            Optimal      8,400

*********************************************************************************************

Chapter 3, Page 128, Problem 17, Innis Investments

*********************************************************************************************

MINIMIZE:

8Stock + 3MoneyMarket

InvestmentFunds: 
+ 50Stock + 100MoneyMarket <= 1200000

Income Reqmt: 
+ 5Stock + 4MoneyMarket >= 60000

Min MMkt shares: 
+ 1MoneyMarket >= 3000

                             Reduced      Original     Lower       Upper

Variable        Value        Cost         Value        Bound       Bound

Stock            4,000        0            8            3.75       Infinity

MoneyMarket      10,000       0            3           -Infinity   6.4

                Dual         Slack/       Original     Lower       Upper

Constraint      Value        Surplus      Value        Bound       Bound

InvestmentFunds  0.0567       0            1,200,000    780,000     1,500,000

Income Reqmt    -2.1667       0            60,000       48,000      102,000

Min MMkt shares  0            7,000        3,000       -Infinity    10,000

Solution list ----------

Variable     Status      Value

Stock        Basic        4,000

MoneyMarket  Basic        10,000

slack 1      NONBasic     0

surplus 2    NONBasic     0

surplus 3    Basic        7,000

Z            Optimal      62,000

*********************************************************************************************

Chapter 3, Page 131, Problem 21, Digital Controls

*********************************************************************************************

MINIMIZE:

10MakeA + 6MakeB + 14BuyA + 9BuyB 

DemandA: 

+ 1MakeA + 1BuyA = 100

DemandB: 

+ 1MakeB + 1BuyB = 150

InjectMoldTime:
+ 4MakeA + 3MakeB <= 600

AssemblyTime:
+ 6MakeA + 8MakeB <= 1080

                             Reduced      Original     Lower       Upper

Variable        Value        Cost         Value        Bound       Bound

MakeA            100          0            10          -Infinity    11.75

MakeB            60           0            6            3.6667      9

BuyA             0            1.75         14           12.25       Infinity

BuyB             90           0            9            6           11.3333

                Dual         Slack/       Original     Lower       Upper

Constraint      Value        Surplus      Value        Bound       Bound

DemandA         -12.25        0            100          0           111.4286

DemandB         -9            0            150          60          Infinity

InjectMoldTime   0            20           600          580         Infinity

AssemblyTime     0.375        0            1,080        600         1,133.333

Solution list ----------

Variable     Status      Value

MakeA        Basic        100

MakeB        Basic        60

BuyA         NONBasic     0

BuyB         Basic        90

artfcl 1     NONBasic     0

artfcl 2     NONBasic     0

slack 3      Basic        20

slack 4      NONBasic     0

Z            Optimal      2,170

*********************************************************************************************
Chapter 3, Page 132, Problem 23, Supersport Footballs

*********************************************************************************************

MAXIMIZE: 

3AllPro + 5College + 4HighSchool 

Cut & Dye:

+ 12AllPro + 10College + 8HighSchool <= 18000

Sewing:

+ 15AllPro + 15College + 12HighSchool <= 18000

Inspect & Pack:
+ 3AllPro + 4College + 2HighSchool <= 9000

AllPro >= 1000:
+ 1AllPro >= 1000

                             Reduced      Original     Lower       Upper

Variable        Value        Cost         Value        Bound       Bound

AllPro           1,000        0            3           -Infinity    5

College          200          0            5            5           Infinity

HighSchool       0            0            4           -Infinity    4

                Dual         Slack/       Original     Lower       Upper

Constraint      Value        Surplus      Value        Bound       Bound

Cut & Dye        0            4,000        18,000       14,000      Infinity

Sewing           0.3333       0            18,000       15,000      24,000

Inspect & Pack   0            5,200        9,000        3,800       Infinity

AllPro >= 1000  -2            0            1,000        0           1,200

Solution list ----------

Variable     Status      Value

AllPro       Basic        1,000

College      Basic        200

HighSchool   NONBasic     0

slack 1      Basic        4,000

slack 2      NONBasic     0

slack 3      Basic        5,200

surplus 4    NONBasic     0

Z            Optimal      4,000

*********************************************************************************************
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